4 ‘ 3 /4 1

THTS DRAWING 1S UNPUBLISHED. ‘ RELEASED FOR PUBLICATION 50 REVISIONS
@ COPYRIGHT 20 BY - Frb RTOHTS RESERVED. P LTR DESCRIPTION DATE DWN | APVD
111 Al ECR-15-004309 2AMAR2015 | GY cw
— —
B ECR-15-013759 26SEP2015 | DW CW
/€} ﬂll | 1 1 1 1 1 1 1 1 11 | | 1 Il | 1 1 1 1 1 1 1 1 | |l @}\ 81 ECR716701 W988 27AU62016 YC CW
E ¢r 11 016 8 L9 § % ¢ T [ e C ECR-21-106515 12JuL2021 | SQ | CwW
(0@) ﬁ-—
- txte O © o =
. = NOTES :
b F0 €0 TT T8 0T 6D 8T LT 91 61 w1 ¢1 o~ | TECHNICAL CHARACTERISTICS:
\&a mlll 1 ] 1] 1] 1] 1] | | 1 Il | 1 ] 1] 1] LI ||l \&J/ ‘NSULAT‘ON MATER‘AL: PC

RATED VOLTAGE: 500V

24X M3 SCREW,RECOMMENDED M4 SCREW,RECOMMENDED CATED CURRENT. 164
TIGHTENING TORQUE 0O.5Nm TIGHTENING TORQUE [.2Nm INSULATION RESISTANCE: >=400MO)
cAX MIRE, RRGRAED . oNm MARE, RGRLE] . CNm RATED IMPULSE VOLTAGE: 6KV
I . | v POLLUTION DEGREE: 3
4 A FLAMMABILITY: UL94V-0
- f(f%ﬁﬁf“V"Vﬁﬁf“Y"Vﬁaf“v' MATING CYCLES: 500 CYCLES
- ﬁ NN ‘ WIRE RANGE: 0.5mm2~2.5mm2 (AWG20-AWGI4)

CONTACT TYPE: SCREW CLAMP (M3)

- \ = ' [T i
N HDC-HE-024F o -
i8A 500V 6KV 3 | od / B
i o -
Y — SF C€ | ks

| | s PC

4% M3 SCREW,RECOMMENDED HEREE: 500V
TIGHTENING TORQUE 0. 5Nm FEwg s | 6A

AX M3BL #EHEAE) . S5Nm gyl >-400MC)
| BOPEE - 6KV

FRER 3

@ L vt € tz_Ju 0T 61781 LT 9 ‘
- M | ass: UL94V-0
)©©)©©)©©)OF R,
~ 2 o 20200620 guEE. 0. 5mm2~2. 5mm2 (AWG20-AWG | 4)
%ﬁ BUAE . RUEE (M3)
TYPE |,T2040242201-000,WITH LOGO
28 |, T2040242201-000,#%L0GO
Yy 14— - —— - — - — - THIS DRAWING IS A CONTROLLED DOCUMENT. [OWN 15AUG20T4
@_ : DIMENSIONS: OTTHOELREWRIASNECESSPEUCNILFEISESD- APCVDHRIS WANWGSAUGZOWA NAME
X | . - - LXTANG XU HE-024-F
t 0 PLC 4 PRODUCT SPEC
' 1 PLC +-
L_ 104 *€§>{::::%2 e 108-137044
3 PLC +- APPLICATION SPEC
PANEL CUT FOR ‘ NSERTS FOR USE ZALN(E)LLECS +- . 1 147137044 SIZE CAGE CODE | DRAWING NO RESTRICTED TO
WITHQUT HOODS/ HOUSINGS WTERTAL N VETGHT : A 3|00TT9(C=T2040242201000 -
Rl AP A T T S A E—
: : CUSTOMER DRAWING [ 9 C

1470-19 (3/13)



4 3 ? [
THIS DRAWING IS UNPUBLISHED. RELEASED FOR PUBLICATION 20 R Ev IS IC>NS
<:> COPYRIGHT 20 BY - Frb RTOHTS RESERVED. p LTR DESCRIPTION DATE DWN APVD
SEE SHEET 1
/ Nlll LA ) | N N N N N | | | .. LA LAl |||||||||||
@JZT[HIQH@gL‘@S%SZT%{}
_ | NOTE ;
1 x 1o A A A ALL SPEC REFER TO TYPE |
=l—E R
| V6 €6 ¢6 1¢ 0¢ 6081 LI 91 S§I vl €I mAELAESER TYPE |
Q@» 'ﬂlll LI 1 ) | N N N N N N | | | .. LA LAl ||||||||||| @
TYPE 2, 72040242201 -001 ,WITHOUT LOGO
R 2 12040242201 -001, %L OGO
] T =
a U, 0 U U U U U, HH A
‘ ) IIII I
| |
\ T
| |
1
¢ € T¢_l¢ 0¢ 61'8T L1 91_G1 %1 ¢I
.
o 056 2 0o~ 00 L 00 L o3
N NN NN NN i
Q)OO0 OO 2040242701-000 | HE-024-F |MHE-024 FEMALE INSERT -
0 HE-024 &%
I 0 6 8 L9 § % € € HE-024 FEMALE INSERT,WITHOUT LOGO
\ 12040242201-001 HE-024-F HE-024 %8 %060 TYPE 2
PART NUMBER PART DESCRIPTION TYPE
# % # @ %8
THIS DRAWING IS A CONTROLLED DOCUMENT. |DWN [5AUG2014
CHGKINO HAO 15AUG20714 r—R TE TE Connectivity
PIHERSTONS: OTTHOELREWRIASNECESSPEUCNILFEISESD' APCVDHRIS WAN%AUGZOUL NAME
i ’ XTANG XU HE-024-F
0 PLC 4 PRODUCT SPEC
@G;Etg = 108-137044
3 PLC +- APPLICATION SPEC
ZALN(E)LLECS +- . WWA’W?)?OAA SIZE CAGE CODE | DRAWING NO RESTRICTED TO
WATERTAL FINISH ] WELGHT ) A;30<y779@3:T2040242201000 _

CUSTOMER DRAWING

SCALE

SHEET OF
2

101

REV
C

1470-19

(3/713)




Mouser Electronics

Authorized Distributor

Click to View Pricing, Inventory, Delivery & Lifecycle Information:

TE Connectivity:
T2040242201-001



https://www.mouser.com/te-connectivity
https://www.mouser.com/access/?pn=T2040242201-001

	Sheet 1
	Views
	new_view_1
	top_2
	bottom_6
	new_view_8
	right_11


	Sheet 2
	Views
	new_view_13
	new_view_14
	top_15
	bottom_16
	right_17



